I-II@
Environmental Product Declaration B HiE

BOLIX - EPS-BASED - EXTERNAL THERMAL
INSULATION COMPOSITE SYSTEM (ETICS)

BeLIX

Issuance date: 01.03.2014
Validity date:  01.03.2019

EPD program operator:
Building Research Institute (ITB), 00-611 Warsavitréwa 1

www.itb.pl; www.zb.itb.pl/epd

ECO

ITB is the member ¢_*= The European Platform for EPD program operators.
Manufacturer

BOLIX S.A., Stolarska 8 34-300ywiec

http://www.bolix.pl/

Basic infor mation

This declaration is the type Il environmental puot declaration based on EN 15804 rules and vdrifie
according to ISO 14025 and ECO rules. It contdiesenvironmental information on the impacts anceetspof
declared construction materials verified by theepehdent Advisory Board according to ISO 14025.

Life cycle: Cradle to Gate (EN 15804, A1-A3 modulad)

The year of preparing the characteristic: 2013

Declared durability: 25 years

Declared Unit : 1 rhof EPS based EXTERNAL THERMAL INSULATION COMPOSITEYSTEM
(PCR general for construction products - EN 15804)



_ _ RN ©
Product information = EliE

BOLIX is external thermal insulation composite gyss (ETICS - formerly light-wet method), consistiofy
state-of-the-art products to be applied on all $ypé buildings. The systems include the followirgneents:
expanded polystyrene foam boards are fixed to theravall with adhesive and/or dowels. They arentbeated
with a thin-layer plaster that has been reinfoneitti fibreglass mesh embedded in adhesive. Thedap can be
obtained by using the following plaster types: &crynineral, silicate, silicone. Various colorsdarextures may
be created to accomplish the effect desired byteer or architect.

adhesive for insulated wol|
insulation boards (exterior wall)

nsulation boards

fibierglass mesh

adhesive for
reinforcing loyer

e
RERRARS,

._:_L

primer

plaster

corner heod starter strip

\ fosteners for
Y insulation hoards

Fig.1. BOLIX - system composition

Intended use

This ETICS is intended to be used as external a&tisul of buildings’ walls made of masonry (brickdocks,

stones, ..) or concrete (cast on site or as priefted panels) with or without rendering (reactiorfire class Al
or A2-s1, dO according to EN 13501-1). The ETIC8asigned to give the wall to which it is appliedisfactory

thermal insulation. The ETICS is made of non load#ing construction elements. It does not contelaitectly
to the stability of the wall on which it is instadl, but it can contribute to durability by providirnhanced
protection from the effects of weathering. The EFI€an be used on new or existing (retrofit) vetticalls. It

can also be used on horizontal or inclined surfadgsh are not exposed to precipitation.

The ETICS is not intended to ensure the airtightnesthe building structure. The provisions madethia

European Technical Approval (ETA-07/0110) are base@dn assumed working life of the ETICS of at {eXs
years, provided that the conditions laid down iauskes 4.2, 5.1 and 5.2 of ETA for the packagirapdport,
storage, installation as well as appropriate usa@ntenance and repair are met. The indicationsngore the
working life cannot be interpreted as a guaranigengby the manufacturer or the Approval Body, bhbuld

only be regarded as a means for choosing the apatemproducts in relation to the expected econaftyic
reasonable working life of the works.



LCI - raw materials, energy, emissions and waste.

Table 2. Raw materials used in ETICS production

IThE
B EE

Raw material Raw material used on
Name of component Name of semi-finished used on 1 Mg hol duction
Number of coat product or raw material of product whole produ
[ka] 1 [ Mg ]
1. Fixfor EPS Additive 1 - 55,3
BOLIX Z Additive 2 - 92,2
(for calculation 4 kg/m?) Sand - 10367,3
Mineral filler - 553,4
CEM II - 7378,9
2. Thermal insulation EPS
3. Base coat (Fix for mesh) Additive 1 - 95,0
BOLIX U, BOLIX UZ, BOLIX UZB | Additive 2 - 403,8
(for calculation 4 kg/m?) Sand - 14584,7
Mineral filler - 593,8
CEM I - 8076,2
4. Classfibre mesh AKE 1452 Glassfibre reinforcement
(for calculation 0,145 kg/m®)
A. ACRYLIC COAT
5A. Acrylic key coat Water - 337,7
BOLIX OP Additive 1 - 19
(for calculation 0,32 kg/m?) Mineral filler 1 - 47.8
Mineral filler 2 - 378,9
Dispersion - 153,1
Pigment - 30,6
Coalescent - 4.8
Biocide - 1,9
6A. Acrylic finishing coat Water - 191,0
BOLIX, BOLIX complex Additive 1 - 20,1
(for calculation 2,5 kg/m?) Mineral filler 1 - 2085,9
Mineral filler 2 - 1055,5
Quartz filler - 804,2
Dispersion - 703,7
Pigment - 100,5
Coalescent - 25,1
Modifier - 30,2
Biocide 1 - 10,1
7A. Acrylic primer Water - 34,5
BOLIX N Dispersion - 9,2
(for calculation 0,15 kg/m?) Biocide R 0.1
8A. Decorative coat Water - 74,2
BOLIX AZ, BOLIX AZ complex Additive 1 - 0,9
(for calculation 0,25 kg/m?) Quartz filler - 29,0
Mineral filler 2 - 40,6
Mineral filler 2 - 23,2
Dispersion - 89,7
Pigment - 29,0
Coalescent - 2,9
Biocide - 0,7
B. SILICONE COAT
5B. Silicone key coat Water - 94,9
BOLIX SIG color Additive 1 - 0,9
(for calculation 0,325 kg/m?) Quartz filler - 40.3
Mineral filler 2 - 44,8
Mineral filler 2 - 4.5
Dispersion 1 - 24,6
Dispersion 2 - 6,7




Pigment 5,6
Coalescent 1,1
Biocide 0,4
6B. Silicone finishing coat BOLIX SIT Water 101,6
(for calculation 3,25 kg/m?) Additive 1 10,4
Mineral filler 1 124,4
Mineral filler 2 816,7
Filler 1 20,7
Filler 2 103,6
Mineral filler 3 62,2
Mineral filler 4 4975
Dispersion 1 165,8
Dispersion 2 82,9
Pigment 41,5
Coalescent 10,4
Modifier 20,7
Biocide 1 4,1
7B. Silicone primer Water 10,5
BOLIX SIG Dispersion 0,7
(for calculation 0,15 kg/m?) Biocide 0,0
8B. Decorative coat Water 130,2
BOLIX SIL Additive 1 2,0
(for calculation 0,23 kg/m?) Mineral filler 1 1958
Mineral filler 2 24,8
Dispersion 1 64,6
Dispersion 2 23,9
Pigment 49,7
Coalescent 25
Biocide 1,0
C. SILICATE COAT
5C. Silicate key coat Water 25,2
BOLIX SG color Additive 1 0,4
(for calculation 0,13 kg/m?) Mineral filler 1 23,2
Mineral filler 2 21,1
Dispersion 13,9
Pigment 1,4
Modifier 1 0,6
Modifier 2 0,5
Additive 2 6,5
6C. Silicate finishing coat Wat.e.r 384
Additive 1 6,8
ngt())rLg;(IcSulation 3k /m2) Mineral filler 1 570,9
9 Mineral filler 2 33,9
Mineral filler 3 62,2
Quartz filler 197.8
Dispersion 79,1
Additive 2 90,4
Pigment 17,0
Modifier 1 18,1
Modifier 2 10,2
Modifier 3 5,7
7C. Silicate primer Water 3.7
BOLIX SG Additive 1 1,1
(for calculation 0,15 kg/mz) Dispersion 0,5
8C. Decorative coat Water 33,0
BOLIX SZ Additive 1 0,6
(for calculation 0,23 kg/m?) Quartz filler 43,1
Mineral filler 7,0
Dispersion 18,2




Pigment - 16,8
Modifier 1 - 0,7
Additive 2 - 19,6
Modifier 2 - 1,1
D. MINERAL COAT
5D. Key coat Water - 337,7
BOLIX OP Additive 1 - 19
(for calculation 0,32 kg/m?) Mineral filler 1 - 47,8
Mineral filler 2 - 378,9
Dispersion - 153,1
Pigment - 30,6
Coalescent - 4.8
Biocide - 1,9
6D. Mineral finishing coat Additive 1 . 7.6
BOLIX MP Additive 2 - 50,9
(for calculation 3 kg/m?) Quartz filler - 1086,3
Filler - 4579
CEM | - 305,3
Mineral filler 1 - 178,1
Mineral filler 2 - 2900,2
Pigment - 76,3
Modifier - 25,4
7B. Silicone primer Water - 10,5
BOLIX SIG Dispersion - 0,7
(for calculation 0,15 kg/mz) Biocide - 0,0
8B. Decorative coat Water - 130,2
BOLIX SIL Additive 1 - 2,0
(for calculation 0,23 kg/m?) Mineral filler 1 - 195,8
Mineral filler 2 - 24.8
Dispersion - 64,6
Disp. silicone - 23,9
Pigment - 49,7
Coalescent - 2,5
Biocide - 1,0
Packing Use of packaging material 2012y
Paper bags 1892 pcs
Dry products Foil stretch 19 719 kg
(fix Z, U, UZ, UZB, mineral finishings) | Pallets 39 407 pcs
Foil PE 4717 kg
Plastic buckets 274 316 pcs
Finishing coats 30 kg Pallets 11 430 pcs
(acryl, silicone, silicate ) Foil stretch power 3432 pcs
Paper 22 860
Paints 18 | Foil stretch power 436 kg
(acryl, silicone, silicate) Paper 2905
Pallets 1453 pcs
Buckets 34 865 pcs
Buckets 38 270 pcs
Key coats OP 25 kg Paper 3192
Pallets 1595 pcs
Foil stretch 478 kg
Primers 20 kg Buckets 18 841 pcs
(N, SG, SG color, SIG, SIG color) Paper 1571
Pallets 785 pcs
Foil stretch power 236 kg

' LClI data presented on the declared unit was aedliput is not presented because of the confidéssiaes.

All inputs of raw materials and energy carrierséneen included in LCA calculations. No cut-offaido




Table 3.Primary energy consumption for A3module

Energy carriers Unit Total Energy per m °
Electricity kWh 1321600 0,14
ON (only inside fabric) litrs 11000 0,0012
Petrol 95 (only inside fabric) litrs 90 9,7E-06
Oll litrs 272000 0,03
LPG litrs 43000 0,0046

Raw material
storage siloses

Computer control
sy stem
Product coloring

l

Packing system

—

weighing
system

Mlixer

Product bin

Chemical
additives
storae

Packing

sy sterm

l

Product storage

Fig.2. BOLIX production scheme (A3 module)

Table 4. Emissionsinto air generated during production stage A3(oil combustion)

Emission during production Unit Total amount Emission per m?of product
(6{0) kg 1186 0,0001

CO, kg 425828 0,046

NO, kg 1052 0,0001

SO, kg 433 5E-05
Aromatic hydrocarbons kg 81 8,7E-06
NMVOC* kg 392 7,8E-05

N,O kg 3,4 6,7E-07

CH,' kg 117,7 2,3E-05

Note 1: Some values shown in table 4 were estimaasthg on fuel consumption and combustion factors.
Manufacturer doesn’t provide measurement servicéhiese substances.

Table 5. Emissions into water generated during production stage A3

Sewage Unit Total amount Emission mg/m?of product
Wastewater rh 1712 5E-04
Composition of wastewater
COD mg/| 348 5,55
BOD mg/| 200 3,19
General suspended matter mg/I 100 1,59
Ammonia mg/I 48,3 0,77
Phosphates mg/| 5,76 0,092
Zn mg/| 0,056 0,00089
Pb mg/| 0,067 0,001
Cu mg/| 0,013 0,0002




Table 6. Waste generated in the phase of product manufacturing A3

Waste Description of waste EwC Qua;telg P Dﬁ&r;:tlroerl;zlﬁ)ﬁ; ¢
produced Code* L "
(Mg) landfill, incineration
Controlled: Municipal wastes 200301 12,98 Disposal
Commercial Used line elements 16 02 16 0,0025 Reuse
Alkali batteries 16 06 04 0,005 Recycling
Controlled: Paper packaging 150101 17,4 Recycling
Industrial Wooden 1501 03 45,6 Re-use
Mixed packing 1501 06 25,6 Re-use
Sorbents, filters 1502 03 0,1 Recycling
Industrial slag 1908 14 325,4 Disposal
Mineral /sand 01 04 09 340,5 Re-use
Reject products 101382 170,2 Recyling
Organic 16 03 06 47,3 Disposal
Tires 16 01 03 0,133 Recycling
Steel 17 04 05 5,0 Recycling
Plastic packaging 1501 02 12,8 Recycling
conrolled: ;':gﬁ;dgosus material 1501 10 0,086 Re-use
Sorbents, filters, others 15 02 02 0,45 Re-use
Used oils 130208 0,370 Recyling
Qil filters 16 01 07 0,030 Recycling
Instalation elements 16 02 13 0,029 Re-use
Organic mix with hazardous 16 03 05 0,03 Disposal




Environmental characteristics (LCA)- ETICS

Table 7. Environmental characteristic for 1’ ETICS, acryl system, 10 cm EPS

I-II®
H N

Environmental assessment information (MND  — Module not declared, MD — Module Declared , INA- indicator not assessed )
Benefits
. and loads
Product stage Conrsgété(;tslon Use stage End of life beyond the
P system
boundary
o .
= =] = | = € c >
8 e | €129 |5¢c 3 = 3 |Be|® = o o | _ s __
5> 5| 35|c5(883 S| s | 8| E|5%|58|58| 8§ |es| 3| 323
ol P 3] 8= |S® @ Q c @ ) 5 S x|=2| 5= 3 D b o 85 E
ES| 2| & | 28|58 5| €| & | 8| & |S@|Sz|28| ¢ |88 & s g
:° f g 2El5en §| % | 5|z |BE|8%|5e| & |78 8| 888
= £ © 5] S S5 =
4 s | F § O = 12 & g &
Al | A2 | A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 Cl C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1  m?*
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq] 11,8 0,12 0,15 12,07
Depletion potential of the stratospheric ozone layer [kg CFC 11 eq.] 2,73E-07 8,02E-07 1,4E-09 | 1,07E-06
Acidification potential of soil and water [kg SO eq.] 0,037 0,0009 0,0003 0,038
Eutrophication potential [kg (PO4)* eq.] 0,0037 0,001 8,6E-06 0,005
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0024 6,5E-05 0,003 0,005
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 0122 1,2E-08 0 012
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil (MJ] 1946 16 91 2053
resources
Environmental aspects on resource use: 1m  °
Indicator Unit Al A2 A3 Al-A3
U;e of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw
materials [MJ] INA INA INA INA
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (MJ] 2.1 0 013 2,83
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use o_f non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw [MJ] 216,4 1,6 9,2 227,2
materials)
Use of secondary material [ka] 1,36 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,56 0 0 2,56
Net use of fresh water [dm?] 5,9 0,02 0,5 6,42
Other environmental information describing waste ca tegories: 1 m °
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non-hazardous waste disposed [ka] 0,98 0,007 0,1 1,09
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [kg] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,09 0 0,01 0,1
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0




Table 8. Environmental characteristic for 1n ETICS, acryl system, 12 cm EPS

Environmental assessment information (MND  — Module not declared, MD — Module Declared, INA - indicator not assessed)
Benefits
and loads
Construction . beyond
Product stage process Use stage End of life the
system
boundary
® .
—= =] = | = € < )
s e | £ 80 |5c 38 S s | Bal|w 2 o o) 5
= o o [J] (] = € o — —
[0} I} 5 2< 589 < = IS = S w S .9 o £ < 3 28
52 8|5 |2s|%z8 9| £ 2| 8| & |S3/S;/25| & |88 & | gs¢
ES|l c | 8| a8 |58 3 8 3] 8 3 S5 Sg| 2 c Q o S >0
7l S S| c2|age c o £ = g | o8| §5¢E 8 |[28| 2 & 9%
zP| E| 2|85 |ses g 5| 2 |55|585|88| F |78 0| ges
c = (0]
o = | " g |© = = 14 3 &
Al | A2 | A3 A A5 B1 B2 B3 B4 B5 B6 B7 C1l C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 14,5 0,12 0,15 14,77
Depletion potential of the stratospheric ozone layer [kg CFC 11 eq] 3,04E-07 | 8,02E-07 1,4E-09 8,3E-06
Acidification potential of soil and water [kg SO, eq.] 0,045 0,0009 0,0003 0,046
Eutrophication potential [kg (PO.)¥ eq] 0,0046 0,001 8,6E-06 0,0056
Formation potential of tropospheric ozone [kg Ethene eq.] 0,003 6,5E-05 0,003 0,0061
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 015 12E-08 0 015
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil [MJ] 275.4 16 91 286,1
resources
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Use of renewable primary energy excluding renewable
primary energy resources used as raw materials (M) INA INA INA INA
Use of renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of re_newable primary energy resources (prlmary [MJ] 27 0 013 2.83
energy and primary energy resources used as raw materials)
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw [MJ] 305,3 1,6 9,2 316,1
materials)
Use of secondary material [ka] 1,4 0 0 14
Use of renewable secondary fuels [MJ] 1,6 0 0 1,6
Use of non-renewable secondary fuels [MJ] 2,6 0 0 2,6
Net use of fresh water [dm?] 5,99 0,015 0,5 6,51
Other environmental information describing waste ca tegories: 1 m ?
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed [ka] 0,99 0,007 0,1 1,097
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,0 0 0,01 0,01
Materials for energy recovery [ka] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0




Table 9. Environmental characteristic for 1n ETICS, acryl system, 15 cm EPS

Environmental assessment information (MND  — Module not declared, MD — Module Declared, INA - indicator not assessed)
Benefits
and loads
Product stage Construction Use stage End of life beyond
process the
system
boundary
® .
— =) = | = e = P
sl - k= ew S ¢ 3 S o) T O | ® S c = o Qo
= o o Q (] = o [ —
9] o] 5| g5 |89 = = £ S8 swn| 88 o] = [ 3 28
€2 5|2 |5SI888 g | 2| B 5| 5 |23 |22| & |%3| 8| g5¢
€2 c 8 oS [ET 8| o Q o g 3 S| 8Bg| @ 2 TS O % LS a
2| =1 c2 |oal2 c o R 2 oo | o | SE IS =8 Kzl IS
2P| £ | 285G |g¢2= 3 §| 2 |85|8%| 38| F | 8] 8| g2=
c = Q
o s | F g |© = = o4 a &
Al | A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 18,5 0,12 0,15 18,77
Depletion potential of the stratospheric ozone layer [kg CFC 11 eq] 3,51E-07 | 8,00E-06 | 1,40E-09 | 8,352E-06
Acidification potential of soil and water [kg SO, eq.] 0,06 0,0009 0,0003 0,06
Eutrophication potential [kg (PO4)* eq.] 0,006 0,001 8,60E-06 0,007
Formation potential of tropospheric ozone [kg Ethene eq.] 0,004 6,50E-05 0,003 0,007
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 02 1,20E-08 0 02
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil (MJ] 383.4 16 91 3941
resources
Environmental aspects on resource use: 1m  °
Indicator Unit Al A2 A3 Al-A3
U;e of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use o_f renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (MJ] 2.1 0 013 2,83
Use of non-rgnewable primary energy excluding non- _ (MJ] INA INA INA 0
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw (MJ] INA INA INA 0
materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw MJ] 4241 1,6 9,2 434,9
materials)
Use of secondary material [ka] 1,7 0 0 1,7
Use of renewable secondary fuels MJ] 1,6 0 0 1,6
Use of non-renewable secondary fuels [MJ] 2,6 0 0 2,6
Net use of fresh water [dm?] 6,11 0,015 0,5 6,63
Other environmental information describing waste ca tegories: 1 m °
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed [ka] 1,01 0,007 0,1 1,12
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,0 0 0,01 0,01
Materials for energy recovery [ka] 0,0 0 0 0
Exported energy MJ] 0,0 0 0 0

10




Table 10. Environmental characteristic for 1n? ETICS silicone system, 10 cm EPS

Environmental assessme nt information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
Construction and loads
Product stage Use stage End of life beyond the
process
system
boundary
o :
— =) = = e = )
. - k= v |S ¢ 3 S o) T OB S c = =2 [
= = s @ o | B = - —
9] o] 5| 25|89 = = £ S8/ Sun| S8 o] £ [ 3 28
S8l 2|3 |28/888 ¢ | €| &8 | 8|5 |S2/82/22| & |4%8| 8| $5¢
€ 2| c 8 oS |5T 8 Q @ Q 3 S5 85| @9 2 T % L9g
=2 © > c = 0 g o > c 4 K] et o) 5 o= c £ [ ; Q 0 q') 8} ‘6
2 £l 2| 85|52 3 S| £ |85|8%|88| F |78 2| ge=
c = Q
o s |- g |© = = o a &
Al | A2 | A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 Cl C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO; eq.] 11,5 0,13 0,17 11,8
Depletion potential of the stratospheric ozone layer [kg CFC 11 eq.] 6,7E-07 9E-07 1,5E-09 1,57E-06
Acidification potential of soil and water [kg SO eq.] 0,038 0,001 0,0003 0,039
Eutrophication potential [kg (PO.)* eq] 0,0043 0,001 9,2E-06 0,0053
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0025 6,9E-05 0,003 0,0056
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 011 1,3E-08 0 011
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil [MJ] 1935 17 97 204,9
resources
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Uge of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw
materials [MJ] INA INA INA INA
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (M) 2.1 0 0,15 2,85
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use o_f non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw [MJ] 215,1 1,73 9,8 226,63
materials)
Use of secondary material [ka] 1,36 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,56 0 0 2,56
Net use of fresh water [dm?] 6,01 0,016 0,54 6,566
Other environmental information describing waste ca tegories: 1 m
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [kg] 0,002 0 0 0,002
Non-hazardous waste disposed [ka] 0,98 0,009 0,1 1,089
Radioactive waste disposed [kg] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

11




Table 11. Environmental characteristic for 1n? ETICS silicone system, 12 cm EPS

Environmental assessment information (MND

— Module not declared, MD — Module Declared, INA - indicator not assessed)

Benefits
and loads
Construction . beyond
Product stage process Use stage End of life the
system
boundary
® .
—= =] = | = € < )
s e | £ 80 |5c 38 S s | Bal|w 2 o o) 5
= o o [J] (] = € o — —
5] 5| 25 (289 s = 1S Ss48|5a|85s8 £ ] 3 2
52| 2| 3|58 (S88 | S| 8| 8|5 |22|S2|22| 8 |44 8| s5¢
ES|l 2 | & | a8 |58 3B g 5} S 3 S3| Sz |B2| 2 |88 =3 ]
7l S S| c2|age c o £ = g | o8| §5¢E 8 |[28| 2 & 9%
s7|F| 5| fglseL= g §| 2 |&85|&8%|g8| 7 | 8| 2| ge=
c = [0
o = | " g |© = = 14 3 &
Al | A2 | A3 A A5 B1 B2 B3 B4 B5 B6 B7 C1l C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 14,2 0,13 0,17 14,5
Depletion potential of the stratospheric ozone layer [kg CFC 11 eq.] | 7,03E-07 0,000009 1,5E-09 9,7E-06
Acidification potential of soil and water [kg SO; eq.] 0,05 0,001 0,0003 0,05
=
Eutrophication potential (kg éz(])“) 0,005 0,001 9,2E-06 0,006
Formation potential of tropospheric ozone [kg Ethene eq.] 0,003 6,9E-05 0,003 0,006
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 015 1,30E-08 0 015
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil
IeSOUICES [MJ] 274,4 1,7 9,7 285,8
Environmental aspects on resource use: 1 m
Indicator Unit Al A2 A3 Al-A3
U;e of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw
materials [MJ] INA INA INA INA
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw [MJ] 2,68 0 0,15 2,83
materials)
Use of non-renewable primary energy excluding non-
renewable primary energy resources used as raw [MJ] 0 INA INA INA
materials
Use of n0r_1—renewab|e primary energy resources used as [MJ] 0 INA INA INA
raw materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as [MJ] 303,98 1,73 9,8 315,5
raw materials)
Use of secondary material [ka] 14 0 0 14
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,57 0 0 2,57
Net use of fresh water [dm?] 6,09 0,016 0,54 6,65
Other environmental information describing waste ca tegories: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed [kg] 0,99 0,009 0,1 1,099
Radioactive waste disposed [kg] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

12




Table 12. Environmental characteristic for 1n? ETICS silicone system, 15 cm EPS

Environmental assessment information (MND  — Module not declared, MD — Module Decla red, INA - indicator not assessed)
Benefits
and loads
Product stage Construction Use stage End of life beyond
process the
system
boundary
® .
— =) = | = e = P
8 - k= 2% | ¢ 3 = @ TO| ® S c - o [
= e o Q [} = o — —
9] o] 5| g5 |89 = = £ S8 swn| 88 o] = [ 3 28
€2 5|2 |5SI888 g | 2| B 5| 5 |23 |22| & |%3| 8| g5¢
€2 c 8 oS [ET 8| o Q o g 3 S| 8Bg| @ 2 TS O % LS a
2| =1 c2 |oal2 c o R 2 oo | o | SE IS =8 Kzl IS
2P| £ | 285G |g¢2= 3 §| 2 |85|8%| 38| F | 8] 8| g2=
c = )
o s | F g |© = = o4 a &
Al | A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 18,2 0,13 0,17 18,5
Depletion potential of the stratospheric ozone layer kg CF]C 1 7,49E-07 0,00001 1,5E-09 1,08E-05
eq.
Acidification potential of soil and water [kg SO, eq.] 0,06 0,001 0,0003 0,0613
Eutrophication potential [kg (PO.)¥eq.] 0,006 0,001 9,2E-06 | 0,0070092
Formation potential of tropospheric ozone (kg Eér}ene 0,0038 6,9E-05 0,003 0,007
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 0.19 1,30E-08 0 0.19
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil MJ] 382,3 17 97 3937
resources
Environmental aspects on resource use: 1m  °
Indicator Unit Al A2 A3 Al-A3
U;e of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw MJ] 2,68 0 0,15 2,83
materials)
Use of non-renewable primary energy excluding non-
renewable primary energy resources used as raw [MJ] 0 INA INA INA
materials
Use of n0r_1—renewab|e primary energy resources used as [MJ] 0 INA INA INA
raw materials
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as [MJ] 422,78 1,73 9,8 434,3
raw materials)
Use of secondary material [ka] 1,37 0 0 1,37
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,57 0 0 2,57
Net use of fresh water [dm?] 6,2 0,016 0,54 6,76
Other environmental information describing waste ca tegories: 1 m °
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed [ka] 1,01 0,009 0,1 1,119
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,0 0 0,01 0,01
Materials for energy recovery [ka] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

13




Table 13. Environmental characteristic for 1n? ETICS, silicate system, 10 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not as sessed)

Benefits
Construction and loads
Product stage Use stage End of life beyond the
process
system
boundary
o .
— =) = = e = )
. - k= v |S ¢ 3 S o) CL | ® S c < =2 [
= = s @ o | B = - —
9] o] 5| 25|89 = = £ S8/ Sun| S8 o] £ [ 3 28
T2 2| 2| 3S|S88 g | £ 8| 5| 5 |S2|€3|22| & 83| & | g5z
€ 2| c 8 oS |5T 8 Q @ Q 3 S5 85| @9 2 T % L9g
=2 © > c = 0 g o > c 4 K] et o) 5 o= c £ [ ; Q 0 q') 8} ‘6
2 £l 2| 85|52 3 S| £ |85|8%|88| F |78 2| ge=
c = Q
o s |- g |© = = o a &
Al | A2 | A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 Cl Cc2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO; eq.] 11,5 0,125 0,16 11,8
Depletion potential of the stratospheric ozone layer kg CF]C u 3,6E-07 8,2E-07 1,4E-09 | 1,18E-06
eq.
Acidification potential of soil and water [kg SO, eq.] 0,037 0,0009 0,00029 0,038
Eutrophication potential [kg (PO.)* eq] 0,004 0,001 8,8E-06 0,005
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0024 6,7E-05 0,003 0,0055
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 011 1,3E-08 0 011
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil
IeSOUICES [MJ] 193,5 1,66 9,3 204,5
Environmental aspects on resource use: 1 m  °
Indicator Unit Al A2 A3 Al-A3
Uge of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (M) 2.1 0 0.14 2,84
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw
materials [MJ] INA INA INA INA
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw [MJ] 2151 1,66 9,4 226,16
materials)
Use of secondary material [ka] 1,36 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,56 0 0 2,56
Net use of fresh water [dm?] 5,94 0,016 0,51 6,466
Other environmental information describing waste ca tegories: 1 m °
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [kg] 0,002 0 0 0,002
Non-hazardous waste disposed [ka] 0,98 0,0083 0,1 1,09
Radioactive waste disposed [kg] 0,0 0 0 0
Components for re-use [kg] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

14




Table 14. Environmental characteristic for 1n? ETICS, silicate system, 12 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
and loads
Product stage Construction Use stage End of life beyond
process the
system
boundary
® .
—= o R=A - € < P
8 o | £ 8 |5 3 = 6 |Bo|lw 2 - o )
> 5| 5|25 |S8g S| = | 8| E|S5%|S8|S5| § |us| B | 32%
ca| & © S = S8 o [} c o @ S S>|=>| EZ Z 729 o g5 €
eel 2| 8| 58 |253| 4 o 53 g a |SP|S8Sg|le2| ¢ |[8g| 2 259
=l 8| 2| 551|285 Sl x| 2| 5 |gc|gs|s5| & |38 2 4838
T = < = 2 |5c g Q 5 oc| o= 8o = 5 a9 =9
© g § |0 x x a &
Al | A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1l C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 14,2 0,125 0,16 14,5
Depletion potential of the stratospheric ozone layer kg CF]C 1n 3,92E-07 | 8,20E-06 | 1,40E-09 | 8,6E-06
eq.
Acidification potential of soil and water [kg SO2 eq.] 0,046 0,0009 0,0003 0,047
Eutrophication potential [kg (PO4)* eq.] 0,0049 0,001 8,80E-06 0,006
Formation potential of tropospheric ozone [kg Ethene eq.] 0,003 6,70E-05 0,003 0,006
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 014 1,30E-08 0 014
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil
resources [MJ] 274,3 1,66 9,3 285,3
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Use of renewable primary energy exc_:ludlng renewable primary [MJ] INA INA INA INA
energy resources used as raw materials
Use o_f renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (MJ] 2.1 0 014 2,84
Use of non—rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of nqn-renewable primary energy resources (pr'lmary [MJ] 3039 1,66 9.4 314,96
energy and primary energy resources used as raw materials)
Use of secondary material [ka] 1,368 0 0 1,37
Use of renewable secondary fuels [MJ] 1,6 0 0 1,6
Use of non-renewable secondary fuels [MJ] 25 0 0 25
Net use of fresh water [dm?] 6,01 0,016 0,51 6,54
Other environmental information describing waste ca tegories: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed [kg] 0,99 0,0083 0,1 11
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

15




Table 15. Environmental characteristic for 1m? ETICS, silicate system, 15 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
and loads
Product stage Construction Use stage End of life beyond
process the
system
boundary
® .
—= > =2 | = € S )
8 - k= 2% | ¢ 3 = @ TO| ® S c - o [
5 5 S | tc |88 c e o IS co|l cP| 8BS 5 £ © 32w
£2/ 8| 2 |58|588 o | 2| 5| 5| £ |82|8%2|22| 2 |gg| & | 8<%
gl 2| &£| 838|258 3 g o) g 5 |89 |8zl & |Sg| g 29gq
=3 & | 2| &5 (288 S| | 5| 5|82|8¢(ss| & |3 8| 8§88
= = © Oo| O o =
4 =|Fg|° = T | a &
Al | A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq ] 18,2 0,125 0,16 18,5
Depletion potential of the stratospheric ozone layer (kg CF]C 1 4,38E-07 | 8,20E-06 | 1,40E-09 | 8,64E-06
eq.
Acidification potential of soil and water [kg SO eq.] 0,06 0,0009 0,00029 0,06
Eutrophication potential [kg (PO.)* eq] 0,0061 0,001 8,80E-06 0,007
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0037 6,7E-05 0,003 0,0068
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 019 1,30E-08 0 019
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil [MJ] 382,3 17 93 3033
resources
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Use of renewable primary energy excluding renewable
primary energy resources used as raw materials (M) INA INA INA INA
Use o_f renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (M) 2,67 0 0.14 281
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of nqn-renewable primary energy resources (pr'lmary [MJ] 42274 1,66 9.4 4338
energy and primary energy resources used as raw materials)
Use of secondary material [ka] 1,37 0 0 1,37
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,57 0 0 2,57
Net use of fresh water [dm?] 6,13 0,016 0,51 6,656
Other environmental information describing waste ca tegories: 1 m
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non hazardous waste disposed ko] 1,01 0,0083 0,1 1,12
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,0 0 0,01 0,01
Materials for energy recovery ko] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

16




Table 16. Environmental characteristic for 1m? ETICS, mineral system, 10 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
Construction and loads
Product stage Use stage End of life beyond the
process
system
boundary
o .
— =) = = e = )
. - k= v |S ¢ 3 S o) CL | ® S c < =2 [
= = s @ o | B = - —
9] o] 5| 25|89 = = £ S8/ Sun| S8 o] £ [ 3 28
T2 2| 2| 3S|S88 g | £ 8| 5| 5 |S2|€3|22| & 83| & | g5z
€ 2| c 8 oS |5T 8 Q @ Q 3 S5 85| @9 2 T % L9g
=2 © > c = 0 g o > c 4 K] et o) 5 o= c £ [ ; Q 0 q') 8} ‘6
s F| 528|525 s § | 2 |55|55|88| £ |Tg| 6| ges
c = Q
o s |- g |© = = o a &
Al | A2 | A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 Cl Cc2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO; eq.] 10,8 0,13 0,16 11,09
Depletion potential of the stratospheric ozone layer kg CF]C u 2,8E-07 8,37E-07 | 1,43E-09 | 1,11E-06
eq.
Acidification potential of soil and water [kg SO, eq.] 0,034 0,0009 0,0003 0,035
Eutrophication potential [kg (PO.)* eq] 0,003 0,0011 8,9E-06 0,004
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0022 6,78E-05 0,003 0,0053
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 0.10 1,31E-08 0 01
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil
IeSOUICES [MJ] 189,9 1,69 9,46 201,05
Environmental aspects on resource use: 1 m  °
Indicator Unit Al A2 A3 Al-A3
Uge of renewable primary energy excluding rgnewable [MJ] INA INA INA INA
primary energy resources used as raw materials
Use of renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (M) 2.5 0 0.14 2,64
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw
materials [MJ] INA INA INA INA
Total use of non-renewable primary energy resources
(primary energy and primary energy resources used as raw [MJ] 210,1 1,69 9,6 221,39
materials)
Use of secondary material [ka] 1,36 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,56 0 0 2,56
Net use of fresh water [dm?] 9,2 0,016 0,52 9,74
Other environmental information describing waste ca tegories: 1 m °
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [kg] 0,002 0 0 0,002
Non-hazardous waste disposed [ka] 0,98 0,0084 0,1 1,09
Radioactive waste disposed [kg] 0,0 0 0 0
Components for re-use [kg] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

17




Table 17. Environmental characteristic for 1m? ETICS, mineral system, 12 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
and loads
Construction . beyond
Product stage process Use stage End of life the
system
boundary
® .
—= =] = | = € < )
s e | £ 80 |5c 38 S s | Bal|w 2 o o) 5
= o o [J] (] = € o — —
5] 5| 25 (289 s = 1S Ss48|5a|85s8 £ ] 3 2
52| 5|5 |28|SE8| g | £ 8| 5| & |Sx2/S2|25| & |88 & | 85¢%
ESl ¢ | 8| a8 |5T8| 3 2 9) 3 3 S5 Sg| 2 c @ =% T >Q
7l S S| c2|age c o £ = g | o8| §5¢E 8 |[28| 2 & 9%
zP| E| 2|85 |ses g 5| 2 |55|585|88| F |78 0| ges
c = [0
o = | " g |© = = 14 3 &
Al | A2 | A3 A A5 B1 B2 B3 B4 B5 B6 B7 C1l C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq.] 13,4 0,13 0,16 11,19
Depletion potential of the stratospheric ozone layer kg CF]C u 3,07E-07 | 8,37E-07 | 1,43E-09 | 1,11E-06
eq.
Acidification potential of soil and water [kg SO, eq.] 0,04 0,0009 0,0003 0,035
Eutrophication potential [kg (PO4)* eq.] 0,004 0,0011 8,90E-06 0,0045
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0027 6,78E-05 0,003 0,005
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 013 1,31E-08 0 01
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil [MJ] 270,74 1,69 9.46 204.6
resources
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Use of renewable primary energy excluding renewable primary
energy resources used as raw materials (MJ] INA INA INA INA
Use of renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of re_newable primary energy resources (prlmary [MJ] 2.44 0 014 264
energy and primary energy resources used as raw materials)
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of nc_)n—renewable primary energy resources (pr'lmary [MJ] 299.7 169 96 225.8
energy and primary energy resources used as raw materials)
se of secondary material g , ,
U f d terial [ka] 1,37 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,57 0 0 2,56
Net use of fresh water [dm?] 9,28 0,016 0,52 9,74
Other environmental information describing waste ca tegories: 1 m ?
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [kg] 0,002 0 0 0,002
Non hazardous waste disposed [ka] 0,99 0,0084 0,1 11
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [kg] 0,0 0 0,054 0,054
Materials for recycling [kg] 0,0 0 0,01 0,01
Materials for energy recovery [kg] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

18




Table 18. Environmental characteristic for 1m? ETICS, mineral system, 15 cm EPS

Environmental assessment information (MND

— Module not declared, MD

— Module Declared, INA - indicator not assessed)

Benefits
and loads
Product stage Construction Use stage End of life beyond
process the
system
boundary
® .
— =) = | = e = P
sl - k= ew S ¢ 3 S o) T O | ® S c u o Qo
5 5 S | tc |88 c e o IS co |l cP| 8BS 5 £ © 32w
2| 2| 3|58(588 2| S| 8| 8|5 |82|e2|22| 3 |94 8| s5¢
ESl 2| £ 2S8|858| 3| ¢ | & | & | &2 |E8|Cc|2g| & |88| 2| P8¢
za| 8| 2| g5 |2ga S| | 5| 5 |88|8¢%|ss| £ 38| 8| §¢8
= £ @ |00 | O © = =
14 s [ § (®] = 12 & 8 &
Al | A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
MD | MD | MD | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND MND
Environmental impacts: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Global warming potential [kg CO5 eq ] 17,4 0,13 0,16 11,4
Depletion potential of the stratospheric ozone layer kg CF]C u 3,54E-07 | 8,37E-07 | 1,43E-09 | 1,65E-06
eq.
Acidification potential of soil and water [kg SO eq.] 0,055 0,0009 0,0003 0,04
Eutrophication potential [kg (PO.)* eq]] 0,0054 0,0011 8,90E-06 0,0041
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0035 6,78E-05 0,003 0,005
Abiotic depletion potential (ADP-elements) for non-fossil kg Sb eq.] 018 1.31E-08 0 01
resources
Abiotic depletion potential (ADP-fossil fuels) for fossil [MJ] 378,74 1,69 9.46 209.6
resources
Environmental aspects on resource use: 1 m 2
Indicator Unit Al A2 A3 Al-A3
Use of renewable primary energy excluding renewable
primary energy resources used as raw materials (M) INA INA INA INA
Use o_f renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of renewable primary energy resources (primary
energy and primary energy resources used as raw materials) (M) 244 0 0.14 2,64
Use of non-rgnewable primary energy excluding non- _ [MJ] INA INA INA INA
renewable primary energy resources used as raw materials
Use of non-renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Total use of nqn-renewable primary energy resources (pr'lmary [MJ] 418,49 1,69 96 231,49
energy and primary energy resources used as raw materials)
Use of secondary material [ka] 1,37 0 0 1,36
Use of renewable secondary fuels [MJ] 1,59 0 0 1,59
Use of non-renewable secondary fuels [MJ] 2,57 0 0 2,56
Net use of fresh water [dm?] 9,4 0,016 0,52 9,74
Other environmental information describing waste ca tegories: 1 m
Indicator Unit Al A2 A3 Al-A3
Hazardous waste disposed [ka] 0,002 0 0 0,002
Non-hazardous waste disposed [ka] 1,01 0,0084 0,1 1,12
Radioactive waste disposed [ka] 0,0 0 0 0
Components for re-use [ka] 0,0 0 0,054 0,054
Materials for recycling [ka] 0,0 0 0,01 0,01
Materials for energy recovery [ka] 0,0 0 0 0
Exported energy [MJ] 0,0 0 0 0

19




Environmental characteristics (LCA) - transport of

product “A4”

Table 19. Environmental profile for transport of 1 m? BOLIX Systemto Poland, Germany,
Scandinavia and Czech from manufacturing plant (transport TIR or TIR+ship)

I-II®
(=g Sl

Environmental impacts: transportof 1 m 2 to:

Indicator Unit Poland Germany Scandinavia Czech
Global warming potential [kg CO5 eq.] 0,08 0,13 0,34 0,1
Depletion potential of the stratospheric ozone layer | [kg CFC 11 eq.] 0 0 0 0
Acidification potential of soil and water [kg SO, eq.] 0,0009 0,0015 0,0040 0,0012
Eutrophication potential [kg (PO.)¥ eq] 3,39E-05 5,28E-05 0,00014 4,15E-05
Formation potential of tropospheric ozone [kg Ethene eq.] 0,0002 0,0002 0,0007 0,00019
Abiotic depletion potential (ADP-elements) for non- . 3 : .
fossil 1ESOUTCES [kg Sb eq.] 8,35E-09 1,3E-08 3,55645E-08 1,021E-08
Ablo_tlc depletion potential (ADP-fossil fuels) for [MJ] 1,08 1,68 4.59 132
fossil resources

Environmental aspects on resource use: transport of 1 m”to:

Indicator Unit Poland Germany Scandinavia Czech
Use of renewable primary energy excluding
renewable primary energy resources used as raw [MJ] INA INA INA INA
materials
Use of renevv_able primary energy resources used [MJ] INA INA INA INA
as raw materials
Total use of renewable primary energy resources
(primary energy and primary energy resources [MJ] 0 0 0 0
used as raw materials)
Use of non-renewable primary energy excluding
non-renewable primary energy resources used as [MJ] INA INA INA INA
raw materials
Use of non—renewa_ble primary energy resources [MJ] INA INA INA INA
used as raw materials
Total use of non-renewable primary energy
resources (primary energy and primary energy [MJ] 1,08 1,68 4,59 1,32
resources used as raw materials)
Use of secondary material [ka] 0 0 0 0
Use of renewable secondary fuels [MJ] 0 0 0 0
Use of non-renewable secondary fuels [MJ] 0 0 0 0
Net use of fresh water [dm?] 0,01 0,012 0,04 0,012

Other environmental information describing waste ca tegories: transportof 1 m  *to:

Indicator Unit Poland Germany Scandinavia Czech
Hazardous waste disposed [kg] 0 0 0 0
Non-hazardous waste disposed [ka] 0,0054 0,008 0,023 0,0065
Radioactive waste disposed [kg] 0 0 0 0
Components for re-use [ka] 0 0 0 0
Materials for recycling [ka] 0 0 0 0
Materials for energy recovery [kg] 0 0 0 0
Exported energy [MJ] 0 0 0 0

20




. I-II@
Verification . .

The process of verification of an EPD is in accamawith EN 1ISO14025, clause 8 and ISO 21930,
clause 9. After verification this EPD is valid a5 years period. EPD does not have to be recédclla
after 5 years if the underlying data has not chdrsignificantly.

The basis for LCA analysis was EN 15¢

Independent verification corresponding to ISO 1482%3.1.

[ % external [ ] internal

Verification of EPD: PhD. Eng. Aleksander Panek
LCI audit and input data verification: M.Sc. Engominik Bekierski
LCA: PhD. Eng. Michat Piasecki, m.piasecki@itb.pl

Verification of procedures and declaration: PhDg Etalina Prejzner

http://www.zb.itb.pl/epd

ECO

ITB is the member c. The European Platform of EPD program operators.

Normative references

* 1S014025: 2006, Environmental management — Typeehlironmental declarations —
Principles and procedure.

e ISO 21930: 2007, Sustainability in building and stouction — Environmental declaration of
building products.

e 1S014044: 2006, Environmental management — Lifdecassessment — Requirements and
guidelines.

e 1S0O15686-1: 2000, Buildings and constructed assetsService life planning — Part 1:
General principles

» 1S0O15686-8: 2008, Buildings and constructed assetService life planning — Part 8:
Reference service life

PN EN15804: 2013, Sustainability in constructiorrkgo- Environmental product declarations
— Core rules for the product category of constacproducts.

e EN15942: 2011, Sustainability of construction worEnvironmental product declarations.
Communication format business-to-business

21



i
Instytut Techniki Budowlanej
Zaklad Fizyki Cieplnej, Instalacji Sanitarnych | Srodowiska

02-556 Warszawa, ul. Kemwerdw 21

SWIADECTWO nr 011/2014
DEKLARACJI SRODOWISKOWEJ Ill TYPU

Whrdih:
ZLOZONY SYSTEM IZOLACJI CIEPLNEJ Z WYPRAWAMI TYNKARSKIMI BOLIX

Wnicskodawea:

BOLIX 5.A.

34300 Iywiec, ul. Stolarska 8

Pobwierdza sig poprawnosc ustalenia damych uwzglednionych przy opracowaniu
Deklaraci Srodowiskowe] |l bypu oraz zgedrosc 7 wymaganiami nommy:

PN-EN 15804:2012

Iréwnowafonosc obiektow budowlanych.
Deklaracje srodowiskowe wyrobow.
Podstawowe zasady kategoryzacil wyrobow budowlanych.

Hinlijime wisdoctwn, widaas po ra phersary 1 stycenia 2014 & Jest waing 5 s,

Ity o ceasi Smiey wyrienioned Deklarsc i Srodowiikome]

Hemroweiv,
Tmatacdy Firyki Ciepioe],

Myeearor
retytuty Techmid Budowlane|

irtalac il Sandtarmyeh | drodowisi ‘/-/"i_/ﬁ
S ;
£ A |
f it (S -
l."I" Aanee] Seylo lam Bobromicz

WinrEwea, styczed 1074 ¢

22



